
Approaches

Solution-centric vs Problem-centric?

शैली 
समाधान केन्द्रित या समस्या केन्द्रित?
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हमारी शैली क्या है ?

1. समस्या केन्द्रित समस्या ननवारणार्थ
2. समाधान केन्द्रित समस्या ननवारणार्थ
3. समाधान केन्द्रित समाधान प्रयासार्थ

– व्यक्ति(स्वय)ं से पररवार, समाज, और प्रकृनत तक
– मानव
– मानवीय समाज – पररवार से ....क्तवश्व पररवार
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Which approach will we take?

1. Problem-centric Problem-solving

2. Solution-centric Problem-solving

3. Solution-centric Solution Effort*

– Individual to Family, Society and Nature

– Human Being

– Humane Society – Family to …World Family

* Effort for Resolution
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vkt dh fLFkfr

leL;k

vusd leL;k,a] gj Lrj ij fn[kkbZ nsrh gSa ¼O;fDrxr]

ifjokjxr]

lektxr]

izÑfrxr½

ge buls =Lr gSa] buls eqDr gksuk pkgrs gSa

leL;k ls eqfDr ds fy, iz;kl

gj Lrj ij iz;kl dj jgss gSa ¼O;fDr] ifjokj] lekt] izÑfr ds Lrj ij½

cgqr yksx iz;kl dj jgs gSa ¼O;fDrxr iz;kl]

laLFkkxr iz;kl] 

vkanksyukRed iz;kl ½
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Current Situation

Problems

We can see many problems, at all levels

- Individual level

- Family 

- Society

- Nature

We are troubled by these problems, we want to get rid of them

Efforts to get rid of problems

Efforts are being made for problems at every level (individual, family, social, nature)

Many people are making effort at the level of- (individuals, families, organisations, movements...)
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vkt dh fLFkfr & mnkgj.k

leL;k & संबंध, vkilh okrkZyki

leL;k ls eqfDr ds fy, iz;kl & nwjHkk"k

rduhdh & eksckby

rduhdh lQy gqbZ & 80% yksxsa ds ikl esckby ;k ySaM&ykbu

rduhdh lQy gqbZ\& vkilh okrkZyki c<+k] ijarq laca?k &Bhd gq, ;k fcxM+s!
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Current Situation – Example

Problem – Lack of fulfilment in relationship, miscommunication between people

Effort to get rid of problem – Telephony

Technology – Mobile Phone

Technology is successful – About 80% of the population has a land-line or mobile phone

Technology is sucessful? Transmission has increased 

but has the communication in the sense of relationship has increased or decreased?
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vkt dh fLFkfr & mnkgj.k

leL;k & [kk|ku dh deh

leL;k ls eqfDr ds fy, iz;kl & jklk;fud [ksrh ¼1960 ls½

rduhdh & gfjr Økafr lacaf/kr rduhdh

rduhdh lQy gqb & vfrfjDr [kk|ku dh ek=k
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As crops rot, millions go hungry in India – Reuters 2-July-2012

NEW DELHI (Reuters) - Every day some 3,000 Indian children die from illnesses related to 

malnutrition, and yet countless heaps of rodent-infested wheat and rice are rotting in fields 

across the north of their own country.

It is an extraordinary paradox created by a rigid regime of subsidies for grain farmers, a woeful 

lack of storage facilities and an inefficient, corruption-plagued public distribution system that 

fails millions of impoverished people.

http://in.news.yahoo.com/crops-rot-millions-hungry-india-031352121--finance.html

http://in.news.yahoo.com/crops-rot-millions-hungry-india-031352121--finance.html
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vkt dh fLFkfr & mnkgj.k

leL;k & [kk|ku dh deh

leL;k ls eqfDr ds fy, iz;kl & jklk;fud [ksrh ¼1960 ls½

rduhdh & gfjr Økafr lacaf/kr rduhdh

rduhdh lQy gqb & vfrfjDr [kk|ku dh ek=k

rduhdh lQy gqbZ\ 50 o"kZ ds okn Òh 40% dks [kk|ku dh deh]  LokLF; dh leL;k] Ánw"k.k]

[kk|ku] feÎh] gok] ikuh dh 'kq)rk ij Á'u fpUg---

LokLF; dh fLrfFk & igys ls [kjkc ;k vPNh!
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Current Situation – Example

Problem – 1960's insufficient food availability in India

Effort to get rid of problem – Chemical Farming

Technology – Green revolution technologies

Technology was successful – Excess quantity of food

Technology was sucessful?  Even after 50 years 40% do not have enough food, rising problems 
in health, pollution…  food, soil, air and water quality is degrading  

Situation has become better or worse
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bu ekSfyd fcUnqvksa ij rduhdh ;k izca/ku ds fo'ks’k iz;ksx ls dksbZ lek/kku ugha fudy ldrkA

D;ksafd

1- ftls ge ewY;oku ekurs gSa rduhdh o izca/ku mls iwjk djus dk ek/;e gSA

2- D;k ewY;oku gS vkSj D;k ugha] ;g ekuo ds }kjk r; gksrk gS] Rkduhdh ds }kjk ughaA

3- bl ckjs esa ,d lkoZHkkSe Lke> ds vHkko esa rduhdh dk iz;ksx fn'kkghu gSA ;g fn'kkghurk leL;kdkjd] gkfudkjd

rFkk fo/oald gks ldrh gSA

4- vHkh rduhdh ds nq'iz;ksx ls rhu rjg dh leL;k,Wa fn[k jgh gSa

& iznw’k.k ¼/kjrh rkixzLr gksuk½

& lalk/kuksa dk vHkko

& ekuo&ekuo la?k’kZ tSls vkradokn

;g leL;k,Wa gSa ;k dsoy ladsr\
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There are no exclusively technological  or managerial solutions to the underlying issues – for 

answers we need to work on holistic solutions (look at things holistically)

1. Technology is only a means to achieve what is considered valuable

2. What is considered valuable has to be decided by human beings & not by technology itself

3. In the absence of a common understanding of what is valuable for human beings, and in all 

aspects of living, technology use is directionless. In fact, without a holistic perspective, 

technology use can be problematic, harmful and destructive

4. In the current use of technology, 3 major symptoms are visible

− Pollution (e.g. global warming)

− resource depletion

− human-human conflict (e.g. terrorism)

Are these the problems or merely the symptoms?
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rRdkyhu lksp lekt esa djus dk dke

leL;k

¼;k leL;k dk ladsr½

leL;k ls eqfDr ds fy, iz;kl

¼;k dsoy leL;k ds ladsr ls eqfDr & {kf.kd\½

1- lek/kku dh Li’Vrk

2- lek/kku ds fy, iz;kl

3- leL;k dh leh{kk & lek/kku ds 

izdk”k esa

4- leL;k ls eqfDr ds fy, iz;kl

tSlk py jgk gS oSlk gh Bhd gS] ;k vkSj Hkh dqN djus dh vko”;drk gS\

;s pkjksa dke t:jh gSa] ;k mij ds nks NksM+ ldrs gSa\

Pkkjksa dks djuk gS] rks Øe D;k gksxk ¼3&4 fQj 1&2] 1&2 fQj 3&4½

vkt हम dSls py jgs gSa\
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Problem

(or only symptom?)

Solution

(or symptomatic relief – temporary?)

Focus is on the problem

1. Clarity of All Encompassing Resolution

2. Effort for All Encompassing Resolution

3. Problem Analysis in the light of All 

Encompassing Resolution

4. Effort to get rid of root cause of the 

problem

Focus is on the All Encompassing 

Resolution

Problem Centric Approach Solution Centric Approach
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Clarity of diseases

(or only symptoms?)

Medicine, treatment to manage diseases

(or symptomatic relief – temporary?)

1. Clarity of health (harmony in body, 

between self and body), how to stay 

healthy (clarity/resolution re. health)

2. Effort for health (with the clarity of harmony 

in body, between self and body)

3. Disease – Analysis of disease 

(disharmony) in the light of 

clarity/resolution)

4. Effort for getting rid of disease (ensuring 

the health of body) 

Problem-centric  Approach Solution-centric Approach

For example, To ensure health, which approach is appropriate?
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Problem-centric Approach

Problem

(or only symptom?)

Solution

(or symptomatic relief – temporary?)

Solution-centric Approach

1. Clarity of All Encompassing Resolution

2. Effort for All Encompassing Resolution

3. Problem – Analysis in the light of All 

Encompassing Resolution

4. Effort for getting rid of problem

Current  Approach Work to be Done in Society

Is this approach enough or something more is required?

All 4 steps are necessary or something can be left out or added?

What would be the order (3-4 then 1-2 or 1-2 then 3-4)

What are we doing today?



19

1- lek/kku dh Li’Vrk

Ekuoh; y{; dh igpku

---iwfrZ dk dk;ZØe

2- lek/kku ds fy, iz;kl

ekuoh; f”k{kk&laLdkj

Ekkuoh; vkpj.k

Ekkuoh; lafo?kku

ekuoh; O;oLFkk

3- leL;k dh leh{kk  & lek/kku ds izdk”k esa

4- leL;k ls eqfDr ds fy, iz;kl

lekt esa djus dk dke

fujarj pyus okyk dke

lkef;d dke
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1. Clarity of All Encompassing Resolution

Recognition of Human Goal

…Program for it’s fulfillment

2. Effort for All Encompassing Resolution

Human Education-Sanskar

Human Conduct

Human Constitution

Human Order

3. Problem – Analysis in the light of All 

Encompassing Resolution

4. Effort for getting rid of problem – Effort 

for Holistic Solution

Work to be Done in Society

Continuous

Temporary
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Efforts to realise our aspirations

Red Carpet Welcome

Of course, the senior students need to 

understand relationship and develop the 

feeling of relationship in order to achieve this

It will be mutually fulfilling! 

Efforts to get rid of problems

Ragging

Working on Holistic Solution Working to Alleviate Symptoms
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1-[holistic solution centric effort = making effort for holistic 

solution (i.e., effort for human goals, for the wellbeing of all)] 

+ the need to shift effort toward it

e.g., Making effort for right understanding in every individual, 

prosperity in every family…

2- Problems are an indicator of lack of a holistic solution 

centric effort (i.e., due to the fact that we are not working for 

human goals)

e.g., The problem of gender bias in the society is due to lack of 

right understanding 

3-[solution centric approach (solution centric problem solving 

approach)] With a holistic solution at the center, we can 

rightly evaluate which part of the holistic solution has been 

missed out, which is the root cause of the problem and make 

effort for it

e.g., the problem of gender bias in the society can be 

addressed at the root with human education (perhaps in 3-5 

generations with consistent effort). The focus on ensuring 

right understanding (thus a holistic, humane world vision) in 

every individual is the center of the effort

4-[problem centric approach (problem centric problem solving 

approach)] With the problem in the center, most of the effort 

tends to be focused on addressing the symptoms, generally 

not getting at the root cause. Therefore, the same problem or 

some other problem shows up sooner or later

e.g., the effort to address the problem of gender bias through 

externally enforced rules and other measures has led to 

various undesirable side effects like greater litigation

Sum Up
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Holistic Solution-based Problem Solving Approach – Addressing UN SDGs at the Root


